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All changes in climate and
weather take place in

(1) Troposphere

(2) Stratosphere

(3) Troposphere & Stratosphere

(4) Troposphere, Stratosphere &
Ozonosphere -

The factor which does not affect

Insolation is

(1) Rotation

(2) Revolution

(38) Angle of inclination of Sun’s
rays

(4) Prevailing winds

The gas which has third highest
percentage in dry air composition
in lower atmosphere, is

. (1) Carbon dioxide

(2) Ozone
(38) Nitrous oxide
(4) Argon

The layer(s) of the. atmosphere,
known as Appleton layer, is/are
(1) D -layer

(2) E - layer

(3) F1 & F2 - layers

(4) G -layer

The term “air drainage” refers to

(1) Horizontal movement of air
from cold to hot place

(2) Horizontal movement of
airmass from cold to hot
region

(8) Cyclic inflow of air towards
the centre of a cyclone

(4) Moving down of cold air along
slopes from mountain top
into the valley
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100° Centigrade temperature is
equivalent to _____  degree on
Fahrenheit scale.

1) 212

(2) 32

(3) 232

(4) 168

The annual range of temperature

1s calculated as -

(1) difference between annual
maximum . and annual
minimum temperatures in
the last 100 years.

(@) Difference between warmest
& coldest monthly means of
temperature in a year.

(3) Difference between daily
maximum and daily
minimum temperatures in a

year

(4) Difference between average
maximum and average
minimum temperatures in
last 30 years

Find an incorrect statement
regarding pattern of wind direction
in cyclones and anticyclones.

(1) Winds blow anticlockwise in
a cyclone in the northern
hemisphere. -

(@) Winds blow clockwise in a
cyclone in the northern
hemisphere.

(8) Winds blow clockwise in a
cyclone in the southern
hemisphere.

(4) Winds blow clockwise in an
anti-cyclone in the northern
hemisphere. '

Find out the incorrect statement

in context of Sub-tropical high

pressure belt from the followings :

(1) Temperature plays important
role in formation of this Belt.

(2) Low pressure develops in
high altitude above the belts.

(8) These are dynamically
induced pressure belts.

(4) These are also called as
Horse Latitude.
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10.

11.

12,

13.

14.

Which of the following winds is
associated with the Sahara
desert ?

(1) Haboob

(2) Bora

(3) Foehn

(4) Berg

Which of the following is a cold
gusty wind of adriatic coaste ?

(1) Sirocco

(2) Harmattan

(38) Bora

(4) Foehn

Which of the followmgs are low
clouds ?

(1) Cirrocumulus

(2) Altocumulus

(3) Stratocumulus

(4) Altostratus

The unit to express absolute
humidity is

(1) Grams per cubic metre

(2) Grams per kilogram

(3) Grams per cubic feet

(4) Percentage

clouds develop along the
cold front in an Extra Tropical
cyclone.

(1) Altocumulus

(2) Cumulo nimbus

(3) Cumulus clouds

(4) Nimbo stratus

Which of the following is NOT a
green house gas ?
(1) Methane
(2) Nitrous oxide
(3) Oxygen
(4) Carbon dioxide
13
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16.

17.

18.

19.

20.

The Cocos-Ridge is s1tuated in
the

1) Ind1an Ocean
(2) Atlantic Ocean
(3) Pacific Ocean
(4) - Arctic Sea

The largest continental shelf i is
(1) Chile shelf

(2) Australian shelf

(8) Siberian shelf

(4) Chinese shelf

The deepest point in the Atlantic
ocean is

(1) Tonga Deep

(2) Puerto Rico Trench
(8) Mariana Trench
(4) Qurile Deep

The highest tides in the world
occur in the

(1) Bay of Bengal
(2) Hudsen Bay

(3) Bay of Fundy
(4) Bay of Biscay

The normal interval between the
spring tides and neap tides is

(1) 24 hours

(2) 7days

(8) 14 days

(4) -28 days

Which of the following is NOT a
cold current ?

(1) Brazilian current
(2) Benguela current
(8) Humboldt current
(4) Falkland current
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22.

23.

24.

25.

26.

The ocean current which is NOT a
part of the North Atlantic Gyre is

(1) Canary current

(2) Labrador current

(3) North Equatorial current
(4) Gulf stream

The part of the Mid Atlantic
Ridge, north to the eaquator, is
called as

(1) Challenger Rise
(2) Dolphine Rise
(3) Walwis Rise

(4) Rio Grande Rise

The one from the followings
which is NOT a East Atlantic
basin, is

(1) Canary Basin

(2) Labrador Basin

(3) Spanish Basin

(4) Cape Verde Basin

Hypsometric curve is used to

depict -

A. Continental shelf

B. Continental slope

C. Deep sea plains

D. Change in salinity of ocean
water

1) ABC

2 A B,D

(3) Only D

(4) Aand B

Albatross plateau is situated in
(1) Indian Ocean

(2) Atlantic Ocean

(3) Pacific Ocean

(4) Antarctica
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27. Match List-I with List-II and select

28.

29.

the correct answer from the codes
given below :

List-I List-I1
(Ocean Current) - (Ocean)
A: Labrador 1. South
Atlantic
B. Brazil 1. North Pacific
C. Kuroshio iii. South Indian
D. Agulhas iv. North
Atlantic
Codes :
A B C D
@ i iv i i
@ v i iioii
3 1 1 11 iv
@ iv i n i

Which among the following are
trenches of Pacific ocean ?

A. Qurile

B. Puerto Rico

C. Karmadec

D. Tonga

(1) A,B,C,D
(2) A,C,D
3 B,C,D
4 A,B,C

Which among the following are
Siliceous Ooze ?

A. Pteropod

B. Diatom

C. Globigerina

D. Radiolarian
(1) B,D

2 A,D

3) A B,C

@@ B,C,D

| 80. A reef separated from the

mainland or inland shore by a
deep lagoon is known as

(1) Fringing reef

(2) Atoll reef

(3) Barrier reef

(4) Patch reef
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31.

32.

33.

34.

Which one of the following stands
at trophic level IV in a food chain ?

(1) Primary consumers

(2) Secondary consumers
(38) Tertiary consumers

(4) Quarternary consumers

Nitrosomonas bacteria promotes
transformation of

(1) Nitrite into Ammonia
(2) Nitrite into Nitrate
(3) Ammonia into Nitrate
(4) Nitrate into Nitrite

Tropical evergreen forests are
also called as

(1) Monsoon forests

(2) Coniferous forests

(3) Mediterranean vegetation
(4) Tropical rainforests

The monsoon forests are also
called as

(1) Tropical Deciduous forests-
(2) Tropical evergreen forests
(3) Tropical rainforests

(4) Coniferous forests

Which of the followings is NOT a
primary air pollutant ?

(1) Sulphur dioxide

(2) Mercury

(8) Carbon monoxide

(4) Sulphur trioxide

Kyoto Protocol regarding Global
Warming concerns was adopted
in the year :

(1) 1992

(2) 1995

3) 1997

(4) 2001
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38.
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40.

Montreal

| 37. India joined the UNFCCC in the

year
(1) 1991
(2) 1992
3) 1995
(4) 1997

Protocol  regarding
concerns for ozone layer depletion
was an outcome of an
international convention, held in

(1) Rio de Janeiro
(2) Montreal

(3) -Copenhagen
(4) Vienna

The Water Act, in India was first
enacted in the year

1) 1972

(2) 1974

3) 1982

(4) 1988

Travelling from the equator

towards pole, what would be the

correct sequence of vegetation

types you would encounter ?

(1) Tropical Rainforest — Tundra —
Savanna

(2) Tropical Rainforest — Desert
Scrubs — Tundra

(3) Desert Scrubs -
Rainforest — Tundra

(4) Mediterranean Scrubs —

Desert Scrubs — Tundra

Which of the followmg ecosystem
is known as ‘The land of big
games’ ?

(1) Selvas

(2) Savanna

(3) Prairies

(4) Taiga

Tropical
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42.

43.

44,

45.

Which among the following is

NOT correctly matched ?

(1) Prairies - Canada

(2) Pampas - Argentina
(3) Downs - Australia
(4) Llanos - New Zealand

The maximum population size of
a biological species that can be
sustained in that speecific
environment is known as

(1) Biological potential

.(2) Carrying capacity

(8) Fertility
(4) Tolerance

Among the following climatic
factors, which one has the least

~ effect upon terrestrial ecosystem ?

(1) Temperature variation
(2) Conditions of sunhght
(3) Wind

(4) Availability of water

The Mﬂankov1tch cycle plays key
role in

(1) Climate change

(2) Cycle of erosion

(8) Ozone depletion

(4) Hydrological cycle

Leopold Matrix is associated with

(1) Urbanization

(2) Global warming

(3) Life cycle of cyclone

(4) Environmental
Assessment

Impact

. Which one of the following is

NOT included under
conservation ?

(1) National Park

(2) Botanical Garden
(3) Wildlife Sanctuary
(4) Biosphere Reserve

in-situ
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49,

50.

51.

52.

| 48. The main cause for the depletion
of ozone is

(1) Co,

(2) Oxygen
(3) CFCs

(4) Hydrogen

Which of the following

statements regarding an

ecosystem is not correct ?

1) It is a well-structured
functional unit.

(2) The entire biosphere is an
ecosystem.

(3) It has a spatial component.

(4) It is a closed system.

The chemieal compounds, other

than water, in acid rain are

(1) Hydrochloric acid and
Sulphuric acid |
(2) Nitric acid and Sulphuric acid

(3) Nitric acid and Hydrochloric
acid '

Nitric acid, Hydrochloric acid
and Sulphuric acid

4)

Which of the followings is NOT
an example of cultural map ?

(1) Relief map

(2) Political map

(3) Population map

(4) Transportation map

If a distance on land is measured
as 3 Furlong, 79 Yards, 2 Feet
and 7 inches. Tts equivalent
representative fraction will be

(1) 1:37927

(2 1:21120

(3) 1:26635

(4) 1:63360
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53.

54.

55.

Which of the followings is not a
correct conversion into statement
scale of an R.F. 1: 253,440 ?

(1) 1inch =7040 yards

(2) 1inch = 32 furlongs

(8) 1inch =21120 inches

(4) 1inch =4 mile

Find out the statement which is
NOT true.

(1) The latitude of a place is its
angular distance north or south
of the equator, measured along
the meridian of that place from
the centre of the earth.

Lines joining places with the
same latitudes are called
parallel.

The total number of parallels
of latitudes, including the
equator is 179.

The number of parallels of
latitudes in each of the
northern and the southern
hemispheres is 90.

Find out the statement which is

NOT true.

(1) The meridians of longitude
intersect the equator at right
angles.

(2) Al the meridians of
longitude are equal in length.

(3) The meridians of longitude are

4)

2
3

(4)

circles that converge the poles.
There is an international
agreement to adopt the 0°
meridian of longitude as the
Prime Meridian.

Lexodrome 1s

(1) A straight line drawn on
Mollweide’s projection,
joining any two points having
a constant bearing.

A straight line drawn on Gall’s
projection, joining any two points
having a constant bearing.

A straight line drawn on
Sinusoidal’s projection,
joining any two points having
a constant bearing.

(4) None of these

@)

3)

- 13
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57. Which statement is correct in context

58.

@) It is

60.

of Orthomorphic projection ?

(1) Scale is correctly maintained
in this projection.

(2) Directions of all points are

correctly represented in this

projection.

Shapes of different areas are

portrayed correctly ignoring

correctness of area in this

projection.

This projection is also known

as Equi-distant projection.

3)

4

The statement which is NOT correct
in context of the Cylindrical Equal
Area Projection is

(1) Equality of area is-
maintained at the cost of
distortion in shape.

Scale is true only along the
45° parallel of latitudes in
this projection.

Polar parallel is equal to the
equator.

)

3

a non-orthomorphie
projection.

The number of series of the
topographical maps, prepared in
India, is

(1) 2

2 3

3 4

@ 5

Isohels are used to represent the
status of

(1) Equal depths

(2) Equal rainfall

(3) Equal sunshine

(4) Equal cloudiness
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61.

62.

A Dbasic difference between

Choroplethe and an Isoplethe

maps is

(1) Isoplethe maps are prepared
on basis of administrative

boundaries whereas
Choroplethe ~ maps are
prepared on basis of natural
boundaries.

(2) Choroplethe maps are
prepared on  basis  of
administrative = boundaries

whereas Isoplethe maps are
prepared on basis of natural

boundaries

(3) Choroplethe maps are
prepared only for cultural
variables whereas the
Isoplaethe only for natural
variables.

(4) Choroplethe maps  are
prepared with  different
colours only whereas the

Isoplethe are only black and
white maps.

For the following three types of

maps, identify the correct

_descending order based on the

scale starting from the largest
map scale : | '
(1) Atlas map — Topographical
map — Cadastral map
Cadastral

2 map -
Topographical map — Atlas
map

(3) Cadastral map — Atlas map —

Topographical map
(4) Topographical map — Atlas

map — Cadastral map

13
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63.

64.

65.

66.

Consider
statements :

A climograph is drawn with the
help of the monthly data of

A. Rainfall

B. Relative Humidity

C. Wet bulb Temperature
Of these statements :

(1) A, Band C are correct,
(2) A and'B are correct,
(3) B and C are correct.
(4) A and C are correct.

the following

Pole cannot be shown on which of

the following projections ?

(1) Cylindrical equal
projection

(2) Mercator’s projection

(3) Mollweide’s projection

(4) Sinusoidal projection

area

Sten de Geer’s method is used -

(1) To show the urban
population by circles and
rural population by dots.

(2) To show the urban and rural
population by multiple dots.

(3) To show the urban and rural
population by same dots.

(4) To show urban population by
spheres and rural population
by dots.

A device, used in Remote sensing
Technique, that gathers electro-
magnetic radiations, converts it
into a signal and presents it in a
form utilizable for obtaining
information about the objects
under investigation, is known as
(1) Satellite

(2) Reflector

(3) Radar

(4) Sensor
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71.
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67.

68.

69.

70.

. Widely

What does the word GIS stand for ?

(1) Geographical Imaging System

(2) Geographical International
System

(3) Global Information System

(4) None of these

Which one from the following is
NOT an important component of
GIS ?

(1) Procedure

(2) Data

(3) Population

(4) Software

Which one of the following codes
given for abbreviations correctly
depicts landscape models ?

A. DEM
B. DRG

C. DLG

D. DTM
Codes:

(1) Aand B
3 Aand D

(2) Band C
(4) Cand D

Which of the following is a GIS
operation ?

(1) Image displaying g

(2) Contrast stretching

(3) Map overlaying

(4) Map designing

used active remote

sensing systems include :
A. RADAR

B. LIDAR

C. SONAR

(1) Aand B

(2 A,Band C

38) Aand C

(4) Band C
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72.

73.

74.

75.

The sensitivity of a remote
sensing detector to differences in
signal strength as it records the
radiation flux reflected or emitted
from the terrain is defined as

(1) Spectral Resolution

(2) Radiometric Resolution

(3) Spatial Resolution

(4) Temporal Resolution

Which would be the number of
grey values of an image if its
radiometric resolution is ‘6’ bits ?
(1) 1024

(2) 256

3) 32

(4) 64

Remote sensing of terrain

characteristics mostly based on :

(1) on diffused reflectivity
properties of terrestrial features

(2) on conductivity properties of
terrestrial features

(3) on absorption properties of

terrestrial features

(4) on the emissivity property of

terrestrial features -

The wavelength of visible light is

(1) 4.3 to 7.5 micrometer

(2) 0.7 to 1.3 micrometer
(3) 0.4 to 0.7 micrometer
(4) 0.7 to 4.3 micrometer

Which one of the following is
NOT a GIS software ?

(1) ARC VIEW
(2) AUTO CAD
3) ILWIS

(4) Maplnfo
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71.

78.

79.

80.

Qo
futry

GIS are designed to manipulate
spatial objects, which one of the
following is not a spatial object ?

(1) An attribute data cel]
(2) A Polygon

(3) A Point

(4) A Line

- Which of the following waves is

‘used by remote sensing
technology satelites ?
(1) X-Rays

(2) Cosmic Rays
(3) Gamma Rays
(4) Thermal Infrared

Which among the following is
NOT a Raster File format ?

1) ECW

(2) BMP

(3) TIFF

4) SVG

When  atmospheric particles’
diameter is equal to the

wavelength of radiation, it is
known as

(1) Non-selective Scattering

(2) Mie Scattering ,

(3) Rayleigh Scattering -

. (4) None of these
. Which of the following is a

measure of distribution of income
developed by an  Italian
Statistician ?

(1) Kendall method

(2) Bessel method

(8) Gini coefficient method

(4) Weavers method
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82.

83.

84.

85.

The Karl Pearson’s coefficient of

correlation is also known as :

(1) Rank Correlation

(2) Product moment correlation
coefficient

(3) Deviation coefficient correlation

(4) By-product of standard deviation

Find out the statement from the
followings which is NOT correct :
(1) The sum of deviations of
items about arithmetic mean
is always equal to zero.
(2) Arithmetic mean is affected
by extreme values.
(3) The methods of calculating
arithmetic mean are different
in case of exclusive, inclusive
and unequal class intervals.
Calculation of arithmetic
mean 1s based on all the
observations.

4

Find out the statement from the
followings which is NOT correct :
(1) Median remains unaffected
if, the size of the largest
value changes.

Median divides the distribution
into two equal parts.

The median of a distribution
is its first quartile as well.
Mean and median are the
same in a precisely
symmetrical distribution.

@)
3)
4)

Dispersion in statistics refers to

(1) The extent to which values in
a distribution differ from the
average of the distribution.
The extent to which valuesin a
distribution depend upon the
average of the distribution.
Explanation about why values
in a distribution differ from the
average of the distribution.
Examine <the reasons of
difference between values in
a distribution and their
average.

@
3

(4)
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, (1) Mean — Mode =

87.

88.

89.

©
&

The relationship of mean, mode,
median is shown as :

3 (Mean -
Median)

(2) Mean = 2 Median + 2 Mode

(8) Mode = Mean + 3 Median
(4) Median = Mode — Mean

Which of the following is a
relative measure of dispersion ?

(1) Standard deviation

(2) Coefficient of variation
(3) Range
(4) Quartile deviation

Which one of the following is NOT
a measure of central tendency ?

(1) Arithmetic mean
(2) Mean deviation
(3) Median

(4) Mode

A graph of cumulative frequency
distribution is called

(1) Ogive curve

(2) Frequency polygon
(3) Pie chart

(4) Bar chart

Which graph shows line of perfect
equality ?

(1) Multiple line graph
(2) Histogram
(3) Parametric curve

(4) Lorenz curve
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91.

92.

93.

94.

Which one of the following values
of correlation coefficient (r) is not
correctly matched with degree of
relationship ?

Value  Relationship
(1) +0.99 High
(2) +0.50 - Moderate
(8) -0.01 Low
(4) Abovel NIL

Which is NOT a methods of
arranging deviations ?

(1) Mean deviation

(2) Standard deviation

(3) Quartile deviation

(4) Range

Which of the following are the
examples of “Exclusive Class
Intervals” ?

A. 0-10, 10-20, 20-30

B. 11-20, 21-30, 31-40

C. 10.5-20.5, 20.5-30.5, 30.5-40.5
D. 11.5-20.5, 21.5-30.5, 31.5-40.5
(1) A & B are true.

(2) A & C are true.

(3) B & D are true.

(4) C & D are true.

Which value is NOT true regarding
Nearest Neighbor Index ?

1 o

@ 1

3) -2

(4) 2.15

. Which is NOT a comparative

scaling techniques ?

(1) Rank order

(2) Constant sum

(8) Verbal frequency scale
(4) Paired comparison
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97.

98.

99.

Which of the following sampling
method is based on probability ?

(1) Convenience sampling
(2) Quota sampling.

(3) Judgment sampling
(4) Stratified sampling

A researcher is interested in
studying the prospects of a
particular product in an rural
area. What tool should be prefer
for study ?

(1) Rating scale
(2) Interview

(3) Questionnaire
(4) Schedule

Which is the main objective of

research ?

(1) To review the literature

(2) To summarize - what
already known.

(3) To get an academic degree.

(4) To discover new facts or to

make fresh interpretation of

known facts. "

18

Sampling error decreases with
the

(1) decrease in sample size
(2) increase in sample size
(3) process of randomization
(4) process of analysis

. Research ethics do not include

(1) Honesty
(2) Subjectivity
(3) Integrity
(4) Objectivity

13
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101.

102.

103.

104.

105.

The conclusions / findings of
which type of research can not be
generalized to other situations ?

(1) Pure Science Research
(2) Descriptive Research
(3) Experimental Research

(4) Causal
Research

Comparative

Which among the following is
NOT a consideration in selecting
a research problem ?

(1) Interest

(2) Relevance
(3) Evaluation
(4) Ethical Issues

Which among the following is
NOT a method of primary data
collection ?

(1) Observation

(2) Questionnaire

(3) Interview

(4) Personal records / census

What is the name of conceptual
framework in which the research
is carried out ?

(1) Research hypothesis
(2) Synopsis of Research
(8) Research Paradigm
(4) Research Design

Which of the following is NOT a
data collection method ?

(1) Research Questions

(2) Unstructured Interview

(8) Postal Survey Questionnaire
(4) Schedule
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107.

108.

109.

110

106. A research report is a brief of

(1) Research Process
(2) Research Problem
(3) Data Collection
(4) Data Editing

Which sampling technique is
used if population is not
homogeneous ?

(1) Random
(2) Purposive
(3) Stratified
(4) Judgmental

Plagiarism includes —

A. Copy other's work without
referencing

B.
C.

Copy one’s own work

Publishing other’s work in
the name of oneself

D. Republication of own work in

another journal.
Choose correct option :
(1) A, B and C are true.
(2) A, B, C and D are true.
(3) A, B and D are true.
(4) B, C and D are true.

9. Which one of the following is
NOT a reference citing style ?

(1) APA

(2) MLA

(3) HARWARD

(4) CHICAGO

. Which one of the fo]lo§ving is a

technique of multivariate analysis ?
(1) Principal Component

(2) Standard Deviation

(3) Simple Correlation

(4) Arithmatic mean
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111.

112,

113.

114.

115.

The term Geography was first
coined by _

(1) Friedrich Ratzel

(2) Carl Ritter

(3) Eratosthenes

(4) Richard Hartshorne

Who amongst the following has
been called the - founder of
Geodesy ?

(1) Eratosthenes

(2) Hipparchus

(3) Herodotus

(4) Hecataeus

Immanuel Kant, who propounded
the “Gaseous Hypothesis” about
the origin of the earth, was a/an
philosopher.

(1) Greek

(2) German

(3) French

(4) American

Geography was first divided into
General and Special by

(1) Varenius

(2) Kant

(3) Humboldt

(4) Ritter

The approach in geography which
states that actions are motivated

by cognitive process is the sense
of

(1) Humanism
(2) Positivism
(3) Behaviouralism
(4) Radicalism
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116.

117.

118.

119.

120.

Who from the following was NOT a
Greek Geographer ?

(1) Herodotus

(2) Claudius Ptolemy

(3) Homer

(4) Eratosthenes

The famous monumental work in
Geography, known as “The
Almagest”, was scripted by .
(1) Claudius Ptolemy

(2) Strabo

(3) Aristotle

(4) Plato

The author of the book “Kitab-al-
Hind” is

(1) Al-Masudi

(2) Al-Idrisi

(3) Al-Biruni

(4) Ibn Batuta

Who amongst the following was
NOT a determinist ?

(1) Vidal de La. Blache

(2) Alexander von Humboldt

(3) Carl Ritter
(4) Demolins

The book “Britain and the British’
seas’ was authored by _____.

(1) Dudley Stamp

(2) S.J. Smith

(3) Halford J. Mackinder

(4) Ellsworth Huntington

. The famous script “Civilization

and Climate” is written by
(1) Ptolemy

(2) Strabo

(3) Ellsworth Huntington
4) Richard Hartshorne
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Concept of Spatial Organization
was presented by
(1) French School
(2) German School
(3) British School
(4) American School

Which® medieval geographer
extensively improved Ptolemy’s
works ?

(1) Al-Idrisi

(2) Al-Biruni

(3) Ibn-Battuta

(4) Ibn-Khaldun

Who among the following is
known as father of modern
geography ?

(1) Kant

(2) Ritter

(3) Humboldt

(4) Hecataeus

Which among the following
groups represents possibilism ?
(1) Blache, Brunhes, Sauer

(2) Ratzel, Semple, Sauer

(3) Huntigton, Ratzel, Semple
(4) Strabo, Sauer, Kant

The principle in which the effect
of mnatural environment on
humans is considered paramount
(1) Determinism

(2) Possibilism

(3) Neo-determinism

(4) Probabilism

Who among the following is
known as the founder of Modern
Human Geography ?

(1) Friedrich Ratzel

(2) A.V. Humboldt

(3) Elseworht Huntigton

(4) Carl O Sauer
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The study .of ‘who gets what,
where and how is

(1) Radical Geography

(2) Areal differentiation

(3) System Analysis

(4) Welfare Geography

‘There are no necessities, but
everywhere possibilities.” Credit

~ is given to this statement -

(1) Brunhes
(2) Blache
(3) Febrre
(4) Ritter

Which of the following “Puranic
Dwipas’  (Mythological  islands)
belongs to the continent of Australia ?
(1) Jambu Dwipa

(2) Saka Dwipa

(38) Puskara Dwipa

(4) Salmali Dwipa

Which one from the following

was the largest volcanic eruption

in the 20tk century ?

(1) Novarupta

(2) Mount St. Helens

(3) Mauna Kea

(4) Yellowstone

Which one of the following

statements is NOT an evidence

proposed by Wegner ?

(1) Paleontological evidences

(2) Jig-Saw-fit setting
continents '

(3) Paleoclimatological evidences

(4) Extinction of lemmings

of

The minor plate “Caroline plate”
lies between

(1) Antarctic and Pacific plate

(2) - Philippine and Indian plate

(3) South America and Pacific plate
(4) Central America and Pacific Plate

13
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134.

135.

136.

Find ‘out the incorrect sentence

from the followings :

(1) The release of energy,
causing an earthquake,
usually occurs along a fault.

(2) Epicentre is the nearest point
on the surface, to the focus.

(3) All natural earthquakes take
place in the Asthenosphere.

(4) The focus of an earthquake is
also called as Hypocenter.

Which one of the followings has
slowest rate of movement ?

(1) East Pacific rise

(2) Arctic Ridge

(3). Nazca plate

(4) Cocos plate

Which of the followings is NOT an
example of Divergent Boundaries ?

(1) Boundary between Indian
: and Antarctic plates
(2) Boundary between Nazca
and Pacific plates
(8) Mid-Atlantic Ridge
(4) Boundary between Pacific

137.

138.

plate and Philippine plate

Find out the incorrect sentence
from the followings :

(1) Tectonic earthquakes
originate due to sliding of
rocks along a fault plane.

The body waves generate
surface waves.

P-waves vibrate parallel to
the direction of the wave.
S-waves are similar to sound
waves.

)
3
(4)

Exfoliation is mainly a type of
weathering. .

(1) Chemical
(2) Biological
(3) Physical
(4) Human caused
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140.

141.

142,

143.

144.

Which of the following is NOT an
example of young fold mountain ?
(1) Himalayas

(2) Alps

(3) Andes

(4) Appalachians

Which one of the following is a
fault mountain ?

(1) Alps mountains

(2) Appalachians mountains ,
(3) Ural mountains

(4) Vosges mountains

Which of the following is NOT a
volcanic mountain ?

(1) Mt. Kilimanjaro

(2) Mt. Fujiyama

(3) Mt. Mayon

(4) Mt. Sierra Nevada

The name of the waterfall, which
is located on the borders of
Zambia and Zimbabwe is

(1) Tugela Falls

(2) Angel Falls

(3) Victoria Falls -

(4) Wagenia Falls

‘Which of the following is NOT an

example of zonal soil ?
(1) Alluvial soil

(2) Prairy soil

(8) Laterite soil

(4) Chernozem

The landmarks “valley sinks” are
associated with :

- (1) River -

(2) Ground water
3) Glacier
(4) Winds
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145.

1460

147

148,

149.

150.

Cirque is also known as :
(1) neve

(2) Rimae

3 CWM

(4) Arete

In high latitudes, very deep
glacial troughs filled with sea
water and making up shorelines,
are known as ~

(1) Terminal moraines

(2) Fjords

(3) Lateral moraines

(4) Outwash

. The Glacial control theory was

propounded by
(1) Haug

(2) Hall and Dana
(3) Daley

(4) Schuchert

The discontinuity, lying between
upper core and lower core of the
earth, is known as

(1) Lehmann

(2) Guttenberg

(3) Mohorovicic

(4) Repetti

Narrow fingerlike embankment
of sand constructed by littoral
drift and connected by main land,
into the open water or bay is
known as :
(1) Beaches
(2) Lagoon
(3) Tombolo
(4) Spit
Find out the correct statement
about Seif.
(1) Seif are Parabolic dunes.
(2) Seif has only one wing.
(8) Seif and Barchans are same dunes.
(4) Seif are aligned perpendicular
to wind direction.
o
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